HSSC CET Mains Group 55 Work Supervisor Question Paper 14 Jan 2024
HSSC CET MAINS GROUP 55 (SUPERVISOR CIVIL)

‘1. The main occupation of Paleolithic
~ people is
. (A) Hunting
(B) Agriculture
(C) Pottery making
(D) Animal Husbandry
(E) Not attempted

2. The bearing of a line in the direction’ .
of the progress of survey is called = =

(A) Back bearing

(B) Reverse bearing-
€] Fore bearing

(D) Front bearing
_(E) Not attempted

3. The maximum hﬁmhef of vehlcles on

a road that can pass a given point in

an hour is deﬁned as the of '

road lane.

\/(A)/ Capacity = (B) 'ihefﬁcienc}r

(C) Power B Nnne of thESE

(E) Not attempted

4. Accelerators, normally the |

setting time of concrete.
_V(AT/Increase = ik
%
(B) Stops Rk
(C) Reduce

(D) None of the above |
(E) Not attempted

5. A pitched roof j 1S one where the slope -

In any plane exceeds to
the horizontal. '

@) 1° B 70
(C) 5° (D) 10°
(E) Not attempted
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: ' ion of a ripper on a 6. FETSIR W o o 7 2 2
bulldozer 7 P N
: Af)/'ﬂl Push earth and rocks 12 e e
(B) To load materials onto the machine (B) T e = H %‘U‘
(C) To crush hard rock (C) AT TgH W k2 'F-:"IE
(D) To move freely on marshy land (D) Teeedt W wEda w9 F =or ¥ R
(E) Not attempted (E) 3Tvamfig
7. The______ ofa building is the 7. ARG H o HOEAT I T B
part of a structure that transmits the 2 ST St B wE 3 % fore w5y
load to ground to s ort th .
superstructllllr& "ar 3 SHH q{ e % i
VU{ Foundation n HE! (A) tﬁm
(B) Plinth =) (B) feor
(C) Beam (C) &im
(D) None of the above (D) ST § F ¢ 7
(E} Not attempted (E) 3Tsmfea
8. Carpet area of residential building is 8. FEHE W R FHCAT
50% to 65 % of 50% ¥ 65% Bal & |
(A) Plot area (A) e TfEr |
IJBJ/F:locr area  (B) Wi T o0
(C) Plinth area (C) fever wien O}
(D) Site area (D) ®Ee i
(E) Not attempted (E) St
9. What is the recommended munmum 9. Bfem &l % st SRR e Riw
spacing between hatching lines? e 7
Lessthantwicethethichms‘soi' ) mﬁmmmﬁmﬁ;
the heaviest line in the drawing AT & %Y
(B) 0.7 mm or less (B) 0.7 Tt = 3ow +m
(C) More than twice the thickness of (©) 33 # wEd Wit Y A e A Ay
the heaviest line in the drawing 3
: ded .
{D] There is no rchlmmcn f(ﬁﬁ -'r&Ff %
minimum spacing (D) ?E\lﬁ 313[,5[%?[ &

(E} Not attempted (E)
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10. is a type of semiconductor

memory that uses bi-stable latching
circuitry to store each bit.
\/[Af/['.‘lynamic Random Access Mcmory

(DRAM)
(B) Display Data Random Access

Memory (DDRAM) [EIN2(E
(C) En Route Automation E-. A

Modernization (ERAM)
(D) Static Random Access Memory (SIRAM)
(E) Not attempted

11.  Everybody in a room shakes hands with
everybody else. The total number of
handshakes is 45. The total number of
persons in the room is

e
(A) © _,L)BI/ 10
(C) 5 (D) 15

(E) Not attempted

2. Characteristic compressive strength
of 15 cm cube after 28 days,

expressed in
(A) N/mm Mmmz
(C) N-mm (D) N/mm?

(E) Not attempted

is the ability of a
material to restore its initial form and
dimensions after the load is removed.

(A) Ductility B Elasticity
(C) Porosity (D) Hardness
(E) Not attempted

is primarily used for

measuring horizontal and vertical
angles.

(A) Compass

(B) Dumpy level
) Theodolite

D) Fly level

E) Not attempted

10.

11.

12.

13.

14.

T W h1 HllheTer Ay
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goleh fore & w2 |
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(Eidlamuun)
(C) T % I T ($3mumy)
(D) T ¥eq WhEE M (THam)
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(E) 3T
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i S

(A) N/mm (B) N/mm?

(C) N-mm (D) N/mm?

(E) TR
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(A) wrefieT (B) @

(C) TTra (D) w3Rar
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&St 3k et it 1 79y ¥ foro
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(B) srdt ww o

(C) PrEkEe Cj#aes
(D) WTE wae
(E) 3rsamfea
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15. Which of the follo

wing is not a type of
steel bridge ? o

(A) Suspension bridge
(B) Steel truss bridge
(C) Steel girder bridge ChaE
V{Ujréegmcntal bridge ket
(E) Not attempted
16. The exchange of services, information

and product from a business to a
consumer is

(A) C2B

€Y B2C

(E) Not attempted

(B) c2C
(D) B2B

17. Which number will come in the place
of question mark ?

<X
127 \1:':’3/

(A) 190
(B) 221

(C) 236
/ﬂﬁ:ﬁ

(E) Not attempted

8. is a pipe which is used to
provide flow of air to or from drainage
system.

(A) Soil pipe
Vent pipe

(C) Water pipe

(D) Waste pipe

(E) Not attempted

15.

16.

17.

18.

CG - ws24

fr=ferfea # & S s get =51 wew
TR ?

(A) wEiyH B

(B) et gu fir=t

(C) Ve fide firm

(D) Tmizer G

(E) It

U SHEAE B ITHIRT T e, g
3R IG BT AEH-TEH

HECATT & |

(A) C2B (B) C2C
(C) B2C (D) B2B
(E) It

weq oE % W WS- e AR 7
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(B) 221
(C) 236
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(E) v

T WiEd 2 R swm P
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(A) Tordt <5 drgw
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(C) Tt % urgy
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19. Additional moulding provided under
the nosing to improve the elevation of
step and to provide extra strength to
nosing end of stair is called

\/{ﬂJ/Scotia (B) Flight

(C) Going (D) Sofit
(E) Not attempted

20. Which drilling operation provides a
tapered entrance to the hole ?

e}_{ﬁ ounter sinking

[N ]
)/ b{ﬂﬁappmg E .
E}@)/Cure drilling

:,(ID] Counter boring
(E) Not attempted

21. What is the main purpose of varnish ?

(A) To color surfaces
(B) To protect surfaces from damage
(C) To provide a matte finish

VQE?)/ To provide a shiny finish
(E) Not attempted

22. What is the angle between the three
mutually perpendicular edges of a
cube in an isometric drawing ?

(A) 90° \fBJ'/ 120°
(C) 180° (D) 360°
(E) Not attempted

23. The machine parts of the computer is
called a
(A) Software
) Hardware
(C) Bits
(D) Data
(E) Not attempted

| 109.

20.

21.

22,

23.

ﬂ%mﬁ@mﬁﬁmmﬁrmﬁ
AT R o Tl e
%?%m_______iﬁraﬁﬂél

(A) hifean (B) wiige
(C) g (D) Hifte
(&) arsnfa

-4 ffem v 92 3% for v
A Sl EF H B 7

(A) 13 fifd

(B) fim

(C) iR fferr

(D) HT3 qifr

(E) 3T

1T %7 7T Sevm @ @ 2

(A) W@l B TR & fu

(B) HaEl i THFH & w=H F fore
(€) % 5w wem F %

(D) e ol yom %3 % fara
(E) 35

T JHfiRdTT e 3 s w3 d qam
mﬁqﬁ%aﬁamﬁmwiﬁm%?
() 90° (B) 120°

(C) 180° (D) 360°

(E) 3Tt

HER T ol el T & |
(A) BRI .%Eﬂﬁz

(B) TEW =

(©) fozm

(D) g1

(E) 3T
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24.

are saprophytic Protists.

L,Wbm'ﬂﬂage]]ates
(B) Euglenoids
(C) Protozoans
(D) Slime moulds
(E) Not attempted

12 (=]

Er%m

25. Size of cone

test is
(A) 100 x 100 x 100 mm
BJ 150 x 150 x 150 mm
(C) 150 x 100 % 100 mm
(D) 120 x 120 x 120 mim
(E) Not attempted

rete cube for compre

26. What is the function of hydraulic
fluid in an excavator ?

(A) It powers the cab and rotates the
house
(B) It moves the undercarriage

\,LETIE, lifts and lowers the boom and
bucket

(D) It controls the excavator's
steering

(E) Not attempted

£ are end supports of the
superstructure of a bridge.

(A) Wing — walls
(B) Piers
(C) Approaches

\/{'D'}‘ Abutments

(E) Not attempted

Unit of measurement of Damp proof

course is
(A) m Mq-m
(C) kg (D) cu.m

(E) Not attempted

881011

24.

25.

26.

27.

28.

CG - ws24

Hersiet Hifewe ¥ |
(A) SRS

(B) Freriss

(C) WErsan

(D) T Hiee

() arwrfe
ﬁﬂ@qqﬂﬁmﬁmmﬁﬁza@m ATHR
__ B

(A) 100 % 100 = 100 foret
(B) 150 % 150 = 150 fireft
(C) 150 x 100 x 100 foredi
(D) 120 x 120 = 120 firfi
(E) 37ofim

T TR H BIEIeT 59 i F1 S
29

[A}'aga»—q'a%wﬁ‘ﬁ%m% 3R =W =
AT 2

(B) ¥ BT SETS % Ufed =i Twman 2

(C) 78 97 3R S = HI I3 & 3R
= = R

(D) I 3ETh & Wiater %t Trifya s
2

(E) twfem

T YA % AR 9 sifvg mew

SIS A E | E\RE

(8) o — awrm SEN
(B) Todd -

(C) Ti=m

(D) Usgeiica

(E) 3T

SHYF R R AR THEE B

(A) m
(C) kg
(E) 39T

(B) sq.m
(D) cum
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29. What is the angle between the two
cutting lips of a twist drill ?
(a) 90~ (B) 100°

ey 118° B AR

(E) Not attempted I,'_:j .

30. Manav Rachna International University
of Haryana was earlier called as

(A) Kurukshetra Institute of Technology
(B) National Institute of Technology

Career Institute of Technology
and Management

(D) Lingaya’s University
(E) Not attempted

31. The Scientific study of rocks ig
called as

VM’]/Petrnl{:-gy

(B) Pathology

(C) Pedalogy

(D) None of the above
(E) Not attempted

32. Small wooden blocks fixed on
Principal rafter to prevent purlin
from sliding are called

VLBj’JEsatten

(D) Hip rafter

(A) Cleat

(C) Ridge

(E) Not attempted
3. A wood panel glued under pressure

from an odd number (usually 3 to 13)
of layers /piles of veneers is known as

(A) Sapwood
(C) Cardboard
(E) Not attempted

(B) Hardwood

{7 Plywood

CG - WS24

29, ﬁaﬁﬁa%%%m%ﬁﬁﬁrﬂﬁw
T BT R 7

(A) 90° (B) 100°
(C) 118° (D) 135°
(E) STt
30. m%mmm@aﬁm
N UEA o |
(A) FoEF THAfr deemm
(B) USfl qahfisht e
(C) I A1 37 Teer Teem
(D) Tera fvafmmer
(E) 3T5mitg
1. gml ®l WfF @R
HEATT B | N &
(A) Fgrerrsh 2
(B) Tefieisft
(C) Uit
(D) 3T § § HE 75
(E) 3mEmfim
32, vﬁqﬁﬁm@ﬁfﬁﬁ%mg@m
R T B e s )
HET ST 7 |
(4) Felfte (B) &
(€) = (D) &7 Tex
(E) Twamfea

33. fafer % ww fawm e (smwdw 3 3
13}%?@6&3@131‘-?1%#@@3@%
TAFRB ___ wmemrd
(A) #9gs (B) ®¥Egs
(C) Frdaré (D) =TS
(E) 3rvfia
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34. Which of the followin i
: s a i
every plain seale 9 y o R

(A) The zero i.s placed at the end of

the last division from left side

(B) The scale is divided
parts

(C) The sub-divisions are marked in

ti_le last division from zero to left

e
\/E}('?‘:c zero of the scale is placed at
the end of the first division from

left side
(E) Not attempted

into unequal

35. What is the function of a pipe laying
machine ?

(A) To push earth and rocks
(B) To load materials onto the machine
(C) To crush hard rock

-./('D]/ To lay down large steel pipes
(E) Not attempted

is the reference point of

» A
known elevation.
ENEE
/[K[/E’.jench Mark E' '
(B) Datum
(C) Back Sight

(D) Line of Sight
(E) Not attempted

The depression or bend provided in
a drainage system which is always

full of water and prevents the entry
of foul gases into the atmosphere is

termed as a

(A) Tap (B) Sink
Wrap (D) Water closet
(E) Not attempted

34.

35.

36.

37.

Fr=fafaa 4 @ SR s w&

TR doe R 7

(A) I & 3T A Fifew fearem & @
@ TR

(B) Rert spermr e # =ier S 2

(C) Ffm @ve T v & = iR ITEg
3ifa B #

(D) ¥r it 7 A T B vE Fore
% 3ia o T ST 3

(E) Fraarfed

Iy fermny arelt wefia @ = wE E 7

(A) geht 3 =g 1 gehe & fee
(B) T R it die %6 % g
(C) & T I Faer & forg
(D) =3 e T e % ferg

=%t =]
=

(E) s

wIE I ey ¥
(A) 39 ATH

(B) SeH

(C) = |

(D) ¥ 3T A5

(E) Tt

U ool et woTeht ® SR T g
21 g Fore SR TR T e 3l R
323 FEEe

(a) (B) &=

(©) 3 (D) X R
(E) e
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44, Atleast

5.

42. What are the difie

for manufactyrip :
N & bricks accord:
Ry Standmﬂg? according
(A) Only fired clay

(B) Fired cl o

ay and conerete

(C) Fired clay and calcium silicate

V{—B]’ Fired clay, calcjium silicate and
cancrete

(E} Not attempted

43. Purpose of providing is to
divide the total length of bridge onto
suitable spans with minimum
Dbsﬂucﬁ?_n_to_ﬂ_l_e;stream of river.
(A) Abutments

\/[B}" Piers
(C) Pile bents
(D) Approach
(E) Not attempted

windows on the
opposite walls serve effective
ventilation.

\/W’th)

(C) Four

(B) Three

(D) Five
(E) Not attempted
To enable free movement of traffic _
around an urban area, a circumferential
road is constructed which is called
(A) Loop roads
(B) Ring road

(/LE')/By — pass road

(D) Trunk road

(E) Not attempted

42,

45.

CG -ws24

ﬁ:Fanmﬁﬁaméﬁ%ﬁﬁm%m

@ -wh fafim amfed 51 3w R

SR 7

(A) et sreh g ferdh

(B) Sieht g8 frdh ain ihiz

(C) 5o g Pkt 3 Hfewram fuferine

(D) et 7§ fordt, Hfoverm feferdee o
HhIE

(E) arsfia
WEH A H 37T T B e
S 1 T < A & e e ¥
I9YF O I i s 2
(A) T EeE
(B) forrel sedf
(C) wTEe e\
(D) T
(E) aTonfaa
T IRTRH Yo S % R i
YRR IS Raehe
Tl =iy |
(A) & B) @
(€) =R (D)
(E) 3T
T YEL & STET IR T
T 1 TeH F e, v aify
et wewh 1 i e s 2 Rl
gl T |
(A) 4 e
B) for s
(C) aré-tm;rﬁs
(D) & e
(E) STSEmea
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46. What is paint ?
(A) A mixture of water and oil

\/fm/f dispersion of pigment in drying

ﬁ‘ oil

(C) A type of wood varnish e

(D) A solution of salt in water %

(E) Not attempted i

47. technique permits the direct

reading of any printed character

without any special ink.

(A) Magnetic-Ink Character Recognition
(MICR)

\/[{] Optical Character Recognition
(OCR)

(C) Optical Marlk Recognition (OMR)

(D) Mouse/keyboard Capture
Recorder (MCR)

(E) Not attempted

48. Mercury cell suitable for low current
devices like hearing aids, watches,
etc. consists of as anode.

(A) Silver-mercury amalgam
“ v,.{ET Lead-mercury amalgam

(C) Pt-mercury amalgam

(D) Zinc-mercury amalgam

(E) Not attempted

49. Choose the option which most closely
resembles water image of the given

word.
monday ¥
(A) yadnom \LBj/n{lﬂbnnm

(C) Aequom
(E) Not attempted

(D) mowgqea

50. Maximum permissible F.A.R. for

Industrial building is
(A) 1.2

(C) 0.7

(E) Not attempted

(B) 2
By 2.5

=12.

CG - ws24

46, YR ?
(A) Ot 3 e = gy
(B) g@™ 4t det 3§ 5vis =1 deg
(C) T8 =T 1 Th TR
(D) 9+t & T I frerm
(E) st

47, defion fom forelt forgm ey
% forefl oft gfm stem = 9 w2y &
Al e |
(A) HFTRw- Hwe Wit

(THATEHIR)
(B) 3ifesher et Wil (afreiam)
(C) Tt 7Teh TR ( STamaTm)
(D) WIHH /IS et Wit (THHIR)
(E) samfa

as. e e gfedl 93 srmr 3, wfed

e, B g IR 6 A § g I =9
4 BT & | EsEE
(A) -1 H sy -EI ]
(B) Hrar-uit i frsreng
(C) Pt-yR = forzreng
(D) SET-9R <t fgreng
(E) ITanfie

49. 38 fower = == B, S e
%aﬁ‘sﬁ‘%ﬁa%ﬁ@%l
'monday
(A) yadnom (B) ysbrrom
(C) Aequomny (D) wowqeh
(E) 3Tt

50. 3N W ¥ Rre sriman whew
T, U3, 21

(A) 1.2 (B) 2
(C) 0.7 (D) 2.5
(E) Iramfim


Guest
Rectangle


51.

outer edge of the P
respect to the inner edge.

‘./(Aﬂ]a.tnber

(B) Gradient
(C) Super elevation SR
(D) Stopping distance

(E) Not attempted

e is a square or rectangular
block of stone or concrete placed
under beam or truss, to spread the

load over a large area of the wall.
Gabble (B) Cleat
(C) Template (D) Verge

(E) Not attempted

53. ____ is a small metal plate with
three fingers at one end used to take
up the sag of the line.

A_/mingle plate
(B) Scutch plate
(C) Club plate
(D) None of the above
(E) Not attempted

54. What is the approximate operating
weight of a compact or mini excavator ?

(A) 0.7 to 1.5 tons

~&487 1.5 to 3 tons

(C) 3to 5 tons

W{ﬁi 0.7 to 7.5 tons

(E}) Not attempted

-13-

51.

52.

53.

54.

CG - ws24

TR TR 3 ey # gy
TR T 1 SR I &fw 9% 6
T &= § wem F) S e
I T R |
(A)

(B) =t

(C) g ufererem
(D) wifti fadg
(E) v

R & U 52 &9 T 9N H e & R,
| a1 7@ % = @ T R 91 SR

I U SRR AT SRR S 8 |
(A) Teret (B) weiie

(C) T (D) =

(E) AviEa

___ uig ¥l UF B w2l & e
us R o i o 2t € <t e
Torfrerar =t =@t € |

(A) T <

(B) ¥hd Wi

(C) 18 &

(D) IR F F g T

(E) SToEmf

Th Hiae a1 it veehdet S AT
TR T T R ?

(A) 0.7 1.5% ENCE

(B) 1.5 3¢ E '

(C) 385

(D) 0.7/ 7.5

(E) JsatEa
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55.

S6.

57.

S8.

59,

refers to the software whose
source code is available to customers
and it can be modified and redistributed
without any limitations.

Open Source Software (0SS)

(B) Freeware EACE
(C) W3C pE 2o
(D) Proprietary software 1=
(E) Not attempted
On 2™ October 1959 Jawaharlal Nehru
officially inaugurated the establishment
of Panchayati Raj bodies for the first
time in India in this State,
(A) Tamil Nadu
(B) Kamataka

vﬂ,ﬁajasthan
(D) Himachal Pradesh
(E) Not attempted

A horizontal layer of stones or bricks
is known as

(A) Course (B) Joint

(C) Bond

b(B]/ Bed

(E) Not attempted

Chain is composed of piece of
galvanised mild steel wire 4 mm
diameter called
(A) Tallies

(C) Knots

(E) Not attempted

(B) Rings

\JPY Links

Why is paint applied to metallic and
wooden articles ?

(A) To make them heavier
(B) To give them a better smell

To protect them from corrosion
and improve their appearance

(D) To make them more brittle
(E) Not attempted

55.

56.

57.

58.

59.

ﬁmﬁlﬁﬁﬁgmﬁ%m 3
aﬂtﬂ'ﬂﬁmwﬁﬁﬁiﬁ%maﬂ.{
gt & e 2

(C) w3ac

(D) STTEEdt By

(E) 3Tgaiferm

Wﬁqﬂﬁlmﬁmmﬁz 1

ﬁm%ﬁwﬁrﬂﬁ%?ﬂﬁ{%

wﬁmuﬁwwwmﬁam

(4) ftrerTg

(B) Fies

(C) TeEH

(D) Temmerer wesr

(E) 3T9fi

verll o 41 o A v =)

ET ST 2 |

(8) w4 (B) iz

(C) 91 (D) ==

(E) 379t :

4%%%3@%@%%@%

AT R |

(8) it B) far

(C) e (D) fo=

(E) awnfyg

ﬂ@%ﬂtmaﬁa@aﬁwﬁzaﬁm

Al g 7

() 3% Wit 5 % fore %

B) SR ATWgw A Hfog @

(C) 3% &R & S= 3R Iy Sufeafy
FUR H % foro

(D) 3 3 ¥R M % fore
(E) 79
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The process of connecting metal parts | 60 Eig =0 T
e py fusion is called A el it 2 |
welding e (a) A
(B)
(B) Bolting %
() Riveting = (C) ﬂa&“ zﬁﬁ :{é?
(D) None of the above (D) e
(E) Not attempted () AR
1. Mix proportion of M0 grade concrete s | 61 1503 e 1 T T Y
' :2:4
\/(A}/l;l,s:s (B) 1:2:4 () 1:1.5:3 (B) fps
©) 1:1:2 (D) 1:4:8 (€) 1:1:2 @)
(E) Not attempted () I
¢2. Building having height more than 62. 25.0 HIE & i ¥t 30.0 fiet §
05.0m and less than 30.0m, Front S T W 3 g Sl Se &
space width is B 2
@A) 5m By 20m & A 5 @) 20
(C) 3m ; (D) 10m o () 37 () 107
(E) Not attempted (E) STqETEd
L WEW& | 63. W%aﬁaﬁﬁnﬁiﬁﬁﬁﬁﬁﬁqﬂ
recommended enl2xged scale a1 T R & ? B
according to BIS ? P« et
Vm: 20 (B) g:1 . 1,£n-”é=qu. (A) 1: 20 (B) o |
(C) 1:1000 (D201 | = - (C) 1:1000 (D) 20:1
(E) Not attempted . (E) FyaTEd
4, is a software develope” with | 64. o wiedm ¢ Fl T
an intention to damage hardware SqFH hi THEAH q-é‘aﬁi 327 =91 =3
de_vices, ste_a.l data or cause any other q TRt 1 T 3 e eUIC t{g?lﬁ %
trouble to the HSE: S & e R TR |
\/(A]/Malw:are . A) frerm
(B) Virus 2 (B) T
(D) Ransomware (D) ECtC DNy |
(E) Not attempted (E) IR
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CG - ws24
0. The process of cq
A ;necung metal parts 60. WY * fardt 1 oo T e 6y [
Welding — Ef Y
(B) Bolting P 0| (A) ﬁﬁ‘sﬂ
(C) Riveting sl (B) wfedn
(D) None of the aboye {E] RN
[E.;I Not attt:ampted Ii:E; 13 T
;_;Pmp“m““ ofM20 grade concrete is | 61. M20 3 R H iz 21
C] ;1123 (B) 1:2:4 (A) 1:1.5:3 (B) 1:2:4
© i) (D) 1:4:8 (C) 1:1:2 (D) 1:4:8
(E) Not attempted () R
62. Building having height more than
25.0m and less than 30.0m, Front - ZTS,DT-ﬁZI & 31t o 30.0 X & 5w
space width is mmggmﬁmﬁm
|
A
(4) 5m \ﬁr’znmj PR i
“ Sm (D). 10m L (©) 3 (D) 10 T
(E) Not attempted (E) ST
O Wit ot “:&fil;“"'ﬂgf g 63. HTTH ¥ ER PrfRes § ¥ SE-a
recommen eniar scale =
YT e 7 7 ENEE
according to BIS ? B b 2 I
1:20 B) 8:1  1t7iy (A) 1:20 B) 8:1 -
(C) 1:1000 D)20:1° |72 (C) 1: 1000 (D) 20: 1
(E) Not attempted (E) v
64, is a software developed with [ 64. _____ T% Hiveawm § Rl gddm
an intention to damage hardware TR THAE TEEH, T S/ FA
devices, steal data or cause any other T ITAFTERT I HIE = RIAA TG %
trouble to the user. eva @ forefta fem man &
VM]/Malware (A) AR
(B) Virus (B) =T
(C) Worms (©) ==
(D) Ransomware (D) RSEER .
(E) Not attempted (E) Irsnfie
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65. Which of the following extension is
used to save the excel files ?

\ ,(B]/ Xlsx

{A) .doex
(C) .pptx (D) .in aEI o)
(E) Not attempted e

66. Haryana is the first State to adopt

‘/‘Kj Mahila Police Volunteer Initiative
wj&ﬁ-guvemance initiative

(C) Mobile police stations

(D) None of the above

(E) Not attempted

67. Deviation by a prism is least for

.\/mfiulet ray

(C) Red ray
(E) Not attempted

(B) Green ray
(D) Yellow ray

68. The type of forests found in the areas
of coasts influenced by tides

(A) Shola Forests
(B) Evergreen Forests
(C) Desert Forests

\/(B]/ Mangrove Forests
(E) Not attempted

69. Which type of bulldozer is suitable for
use on marshy land ?

(A) Large sized crawler dozers
(B) Bulldozer shovels
(C) Pipe laying machines
) Swamp bulldozers
(E) Not attempted

-16-

85, Eﬁa%ﬁﬁﬁﬁﬁ%ﬁnﬁ%
ﬁﬁﬁmmﬂwmm%?
(A) .docx (B) .xlsx
(C) .pptx (D) .in
() 3rsamie
66. ﬁmﬁmg&mm
qEel T 2 |
(A) wfee gferd @ St vre
(B) ¥-Tata vget
(C) wferefier gfera weam
(D) ITr T F IS T
(E) 3T
67. T f59 gru femrem % fomu
AqH & |
(a) s fRor (B) & e
(C) @ Tt (D) iefi fomem
(E) 3TSrnféa
68. TN &F S R ¥ yifad A9 §, 97
T % 7 91T 517 F |
(A) e 59
(B) We=ER & —_—
(C) Weeeit o EI :
(D) g =9
(E) 3ryafim
69. ﬁmmmw@maﬁmﬁqﬁmw
< fore el 3w 2

(A) TS ITHR F FHR SR
(B) TEFEISR Tiaew

(C) WY Frem areht wet
(D) TG SR

(E) 3T
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71.

72. Aggregate retained on

73.

@

70-

The space on bo i £ the

iage way io.protect the road is
known as

Shoulders
(C) Camber
(E) Not attempted

(B) Formation
(D) Alignment

is the ratio of built up area
allowed to the plot areg available,
(A) Plinth space index ‘lil 2 (&)
(B) Floor space index Di*al
) Plot space index
(D) Space index
(E) Not attempted

A k sieve
is identified as coarse aggregate.

AT 4.75 mm (B) 4.5 mm
(C) 4.25 mm (D) 4.75 em

(E) Not attempted

The

attained in fires.
(A) Colour
(B) Length
(C) Strength
None of the above
(E) Not attempted

is the branch of surveying

which deals with the measurements
of relative height or depth of different

point on the surface of the earth.

(A) Contouring
8 Levlling

(C) Tacheometry
(D) Triangulation
(E) Not attempted

of steel is greatly reduced
at temperatures which are commonly

70.

T1.

T2,

T3.

17-

T4 L]

CG - ws2q
5 h gom
b ol S gﬁ?%%mﬁ oy
) e B)
(C) D) T
() 3t
ST e 8 # A o fafa i
L L) R
(A) =99 o 2
(B) in B 22
(C) wile v 32w
(D) T 2
(E) srsefem
_ FoeH W W T uliE H e
= % T 8 T o6 E
(A) 4.75 Tondi B) 4.5
(C) 4.25 fordt (D) 4.75 i
(E) T
AT =i LG R
A 8 s e W 3 e S R
(A) T
(B) g EyaE
(C) ufe e
(D) I & ¥ IS Tl
(E) STSRmfE
T 6 U IR @ S g
%1 gag W fafie figatt A aig Fo6 T
TR % WO | wEid R
(A) S
(B)
(C)
(D)
(E) JTo=nia
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B4.

&85.

S
Direct

(C)

(E) Not attempted

ToppPinE concrete is sEge__:a_L_d_eggn_ly
with );hgj_;glp of & . and its
surface is ﬂiurauM d and
floated Wi wooden floats till the
cream of concrele comes at the top-

(&) Float

(B) Trowel

(C) Masons s
Straight edge

quare

(A) Span
Wing -
(E]) Not attempted
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81.

82.

83.

551‘

:—:—.?ﬁxq'—gfﬁﬁraTm PP
Wﬁmw%l

.;;:L]Q;HT"H

) foren 39

{C]éﬁ-‘ﬂ

{D}aqﬂﬂﬁﬁia‘aﬁrﬁn?ﬁ

(E) FrErtEd
24ﬁqﬁﬁﬁ§ﬁﬁx@ﬁﬂﬂﬂ
raeiaor 36D T IR
ﬁgﬂﬁ'ﬂ?qﬁﬁm I

(A) 10 @) 30

(c) 20 (D) 40

(E) Sy
mwﬁﬁrnﬁrﬁ%sﬁmﬁ,?ﬁﬁ%
________Fqﬁﬁ%lﬂﬂafm;él

(&) I & B) TE=q

(C) & (D) afe=t

(E) ST

ﬁﬁ‘Tﬂﬁﬁzﬁa‘ = Teg ¥ I
wﬁﬁmmﬁ,aﬁrﬁﬁaﬁsﬁ
mﬁﬁmﬁiﬂﬂﬁﬁnsﬁm%aﬂtaﬁﬁf%
tﬁﬁzﬂ%maﬁaﬁaﬂm%ﬁﬁ
ﬁﬁiﬁﬁz‘fﬁfﬁlﬁﬂﬁﬁquMI

B) ¥
{C]fmﬂﬁﬁaﬁ @%
(D) T &=

(E) oA
E@?%ﬁﬁﬂﬁm
s FT R b
aﬁjﬂ' T el ue i
&) (B) T
i (D) T
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86. If is present in excess raw

bricks shrink and warp during drying
and burning.

quf:fsﬂica ;
(C) Fly ash
(E) Not attempted

(B) Alumina
(D) Lime

87. Which drilling operation is used for
sizing and improving the geometry

and finish of a previously drilled hole ?

(A) Core drilling
(B) Step drilling

‘/(C]/ Keaming

M Counter sinking }E' A
(E) Not attempted (=]

88. Which letters will come in the place
of 1%ues.l:|‘11:::-11 marks ? P
— —H—— i
*LRENL 2 ? ;

(A) J,G ) J,H .

(C) K,H (D) K,I J

(E) Not attempted

89. The bugle of the first war of independence
in 1857 was sounded first by the
people of Haryana at
(A) Panipat
(B) Sonipat
(C) Kurukshetra

B Ambala
(E} Not attempted

0. Which type of line is used for drawing
visible outlines and visible edges ?

r,@{&} Continuous thin line (B type)
. (B) Hatching line (B5 type)
[_J» Continuous thick line (A type)

(D) Continuous thin freehand line

(C1 type)
(E) Not attempted

87.

88.

89,

90.

CG - wsaq

gfewfiged __ ImmmEn
& 1 78 Qaﬁaﬂtﬁﬁﬁ%ﬁﬁﬁg:?%

et & o frpa 2 st €

(a) Tferent (B) Ty
(C) weg Tm (D) =
(E) ITvarféa

ygel @ Ty fope e B i =nfafy 5
FHR 37 AR Gard & foe frm ffm
HTRIA &1 IganT o S 2 7

(A) = fgferm

(B) R fgfem

(C) {fifm

(D) 13X ffhm

(E) 3TsTitma

3 ol % wm o e smm o
TREN Tin?

(A) J,G (B) J,H
(C) K,H (D) K,I
(E) 3Tv=nfaa |
?:{ﬁ'mn%ﬁﬁ‘s’m 1857 % W¥H T=aEl
- WAW T ferer T S T
(A) g
(B) |ifiua s'?ﬁE.'
(C) Foam =
(D) IT=TET
(E) 3
T TR ﬁk;@ﬁﬂrﬁaﬁrﬁﬁﬂaﬁ%m
e e e o e R &

(A) TR vaeht Yar (B wew)

(B) 3R &5 (BS W)

(€) TReR it ¥ (A Tobw)

(D) PR vaeht e Y (1 3@m)
(E) sTvamtya
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e as called
(B] Eﬂﬂﬁa
(D) Flight

?,.M Gﬂfng
(C) Nosing
(E) Not attempted

N ‘
per day. © 70 to 250 vehicles

(A) Heavy traffic road
(B) Medium traffic road
./f(fj/ Light traffic road
(D) Very heavy traffic road = siud
(E) Not attempted op#=ed

Least count of levelling staff is

‘ JA¥0.05 m

) 0.005m
() 0.5m (D) 0.0005 m
(E) Not attempted
A stair mm' 11 two I‘ight

angles is known as
_J([ﬂ{ Bifurcated Stair

(B) Half-Turn Stair

(C) Quarter-Turn Stair

(D) 3-Quarter-Turn Stair

(E) Not attempted
is a fairly impervious
barrier constructed across the river

or a natural drainage to create an
artificial lake or reservoir behind it.

(A) Canal (B) Bridge
Spillway (D) Dam
(E) Not attempted

Size of a standard brick (modular
brigk) should be
AA) 19 x 9 x 9 cm
(B) 20 x 10 x 9 cm
(C) 20 x 9 x 9 cm
(D) 20 x 10 x 10 cm
(E) Not attempted

21-

92.

93.

94.

95.

96!

e B R B L T B~ T | 'qﬂ"i ﬁmmﬁl
— R

[h] Th?ﬂ {B] m

(E) rwranfir

TSt 70 & 250 A ew ¥ |
() Y T H

(B) W& Arame e
(C) &ehl AT Tewh
(D) =ga Wit Tram Hew
(E) 3t
ST W% T e
(A) 0.05 #t
(C) 0.5t
(E) IrrREe

3 TR A el did
& T H A AR

(&) gt

(B) ETH-24 Hil

(€) W& Higl

(D) 3-EX- Higl

(E) TSR

_ @ 3us 9O Shm e
S S % Y T Wiepios S e
¢ Fiffe o w1 s e R

(A) T B) I
CRELE (D) =M=

(E) 3Tt

Th AR $¢ (TSR $¢) I 3T
BT =17, |

(A) 19 x 9 x 9 T#ft

(B) 20 x 10 x 9 T#ft

(C) 20 x 9 x 9 Tft

(D) 20 x 10 x 10 &+t

(E) TSt

A2 |
(B) 0.005 Hi
(D) 0.0005 =i

=y [s]
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97. The order and degree of the differential Fahel GHISHT

97.

98. Haryana has a total of

99. The

g
gﬁ%’

(A) order = 2
degree = 3

(B) order = 2
degree = 4

\)Qéder =2 5
degree = /,{

(D) order =2
degree = undefined

(E) Not attempted

tehsils at Present.
(A) 6 (B) 51

(C) 78 JBY 93

(E) Not attempted

that carries liquid wastes that do not
include human excreta.

-_WWaSte Pipe

(B) Soil Pipe

(C) Vent Pipe

(D) Horizontal Pipe
(E) Not attempted

0. The programs and data present in the

memory is called as

{A} Hard copy

(B) Blank copy

(C) Printed copy
Soft copy

(E} Not attempted

revenue

is any drainage pipe

98,

99,

(&) (] -3

3t feift @

100.

(A) =2
faft =3
(B) 7 =2
faft =4
(C) #H =2
(D) 9 =2
faft = sfvafim
(E) 3T

agdie 8 |
(A) 6

(C) 78

(E) TS
(A) TUf¥TE Uy

(B) Pt argw i

(C) ¥ wrgw Lap

D) &fes ury

(E) I

R g o aik 2 )
HEN T 7 |

(A) BTS hidt

(B) =i Hidt

(C) fiee it

(D) I it

(E) 3T5aidm

(B) 51
(D) 93
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CG - WS24

is ]_ﬂ_'.llﬂ"i'if"n as the brain of | 75. S —— Bl W 1 iR b
er.. g |
evice feamza
:F:rﬂf:essmg Unit (CPU) [[;’L):'/ﬂs% wrafEm ""Iﬁz (’Fﬂ‘ﬂﬁ)
Ui‘?:& Egﬁlm (C) ATILHL 'I:)&'H‘[sﬂ
pted B H;]] m
lhlc?following was the last | w6 Refifa # A A Feret o1 FRm T o
| Singh A) WTg Hfﬁt’
D Singh qg% ﬁ s e

ing D ELCREE
ItthdSmgh (D) g Gt fém
e (E) 3T9féa
kkolam’ battle was 77. e TR Iz % &= @

R ‘
Pandyas (A) =eT 37 qigd T
Rastrakutas JBJ =T 3R e s
and Pandyas (C) Tgpe 3R wigy
'allavas (D) It 3R uga
| (E) JASida
o s 1 73.}@1&4? 1 37 3
ransfer Protoco A) fouer e §.IF|'3EI FiIIquﬂ?TFI
Transfer Protocol {B}] ue ost i Werwte
ransfer Protocol (C) TR T e Merter
Ansmit Protocol (D) T&ue e Ziafe Nempra
(E) 3TSrida

otained from TR 37 :
ccurs in the form | o @wgiﬁa;mﬁggg@m%

(B) Stucco A) Rram

(D) Slate s AR H :[B}} =

(E) 35y

s 80 I AR U3 A I IR
culture.

g (IRihe=T) et T 2 |
ME“"? (A) T (B), 7

oa | () fafeem B T

81.

82.

83
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